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µÅ Æ Å±d¹cá�Ë—«Ë ÈU¼Åf¹dðU�  

 dH_ÅdOž f¹dðU� È«dÐ t� rO�«œÅv�A bM�U� vW¹dðU� XÝ« sJL� ¨ B—œ v²�Ë t� býU³� œułu�

 d?Ð«dÐ œuý »d{ Ê¬It?×H_ d�cð tÐ® œœdÖ Ï ±∞µ¨U?¼Åf?¹d?ðU� »d{ —œ d~¹œ  —U³Ž tÐ Æ©bOM� ÁU~� 

dH_ÅdOž œbŽ d¼ t� œ«bŽ« »d{ ·öšdÐ ¨býUÐ t²ý«œ åÊË—«Ëò dH_ÅdOž f¹dðU� d¼ t� XWO� sOMÇ

¨r?O?M?� n?¹d?F?ð «— v?F?Ðd?� f?¹d?ðU� p¹ ÊË—«Ë ÂuNH� rO¼«ušÅv� gZÐ s¹« —œ ÆXÝ« ÊË—«Ë È«—«œ

t³ðd� vFÐd� ÈU¼Åf¹dðU� Èd¹cá�Ë—«Ë È«dÐ vOU� Ë Â“ô vÞdý sOMâL¼Ï ≤ Ë ≥Æœd� rO¼«uš «bOÄ 

Æn?¹dFð r?¹dOÖ A v?F?Ðd?� f?¹d?ðU� dÖ« ÆbýUÐ vFÐd� f¹dðU� p¹ Bt?� È—u?Þ býUÐ œułu� 

AB = BA = I rO¹uÖÅv� ÁU~�¬ ¨A d¹cá�Ë—«Ë Ë XÝ« B eO� «— ÊË—«Ë  AÆrO�U�Åv�

 ‰U¦�±Æ f?¹dðU� 

  

A =
5  3

2   1









 r?O¼œ —«d� dÖ« Ær¹dOÖÅv� dE� —œ «— 

  

B =
−1    3

 2   − 5









ÁU~�¬ ¨

AB = BA = I «c% ¨A f¹dðU� Ê¬ ÊË—«Ë Ë XÝ« d¹cá�Ë—«Ë BÆbýUÐÅv� 

tOC#Ï  ±Æ  rOM� ÷dOAÊË—«Ë  —u_ s¹« —œ ÆXÝ« d¹cá�Ë—«Ë t� býUÐ vFÐd� f¹dðU� p¹ 

AÆXÝ« œdO tÐ dB×M� 

Æ U³Ł« r¹dOÖ B Ë  C ÊË—«Ë t� bMýUÐ vFÐd� ÈU¼Åf¹dðU� Ëœ d¼ A vMF¹ ̈ bM²W¼AB = BA = I

vDš  ôœUF� ÁU~²Ýœ

µ
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 ËAC = CA = IrOW¹uMÐ rO�«uðÅv� U¼Åf¹dðU� »d{ ÈU¼ÅvÖó¹Ë pL� tÐ ÊuM�« Æ

,B = BI = B(AC) = (BA)C = IC = C

 ÊË—«Ë «c% ËAÆXÝ« œdO tÐ dB×M� 

Æd?
cð d?¹cá�Ë—«Ë f¹dðU� È«dÐ A œd?O t?Ð dB×M� ÊË—«Ë ¨ A UÐ «—  A−1
«c?% ¨r?O¼œÅv� g¹UL� 

AA−1 = A−1A = IÆ

 ‰U?¦�≤Æ ‰U?¦?� f?¹dðU� È«dÐ ± v?M?F¹ ¨

  

A =
5  3

2   1









 r¹—«œ ¨

  

A−1 =
−1    3

 2   − 5









U?N?M?ð s¹« Ë 

 f¹dðU� ÊË—«Ë AÆXÝ«

tOC#Ï ≤Æ rOM� ÷dO A  —u_ s¹« —œ ÆXÝ« d¹cá�Ë—«Ë t� býUÐ vFÐd� f¹dðU� p¹ 
  
A ≠ 0Æ

Æ U³Ł« ÊuÇ A fÄ XÝ« d¹cá�Ë—«Ë   A−1
 Ë XÝ« œułu�   AA−1 = A−1A = It?−O²� —œ Æ

A A−1 = AA−1 = I =1 «c% Ë 
  
A ≠ 0Æ

tOC�ÏV?%U?D?� —œ Æb¼œÅv� XÝœ tÐ vFÐd� ÈU¼Åf¹dðU� Èd¹cá�Ë—«Ë È«dÐ Â“ô ◊dý p¹ q³� 

ÁbM¹¬ÏÆbýUÐÅv� eO� vOU� ◊dý s¹« t� b¹œ rO¼«uš gZÐ s¹« 

ÈU¼Åf¹dðU� Èd¹cá�Ë—«Ë 2 × 2

 r¹dOÖ

  

A =
a11   a12

a21   a22









 f¹dðU� p¹   2 × 2 ÆbýUÐ Af¹dðU� dÖ« jIO Ë dÖ« XÝ« d¹cá�Ë—«Ë 

B =
x   y

z   t









 t� È—uÞ býUÐ œułu� AB = BA = IÆ

 f?¹d?ðU?� v?D?¹«dý tÇ X×ð t� rOM�Åv� vÝ—dÐ «b²Ð«B t?� XÝ« œułu� AB = Is?¹« È«dÐ Æ

 t� rOM�Åv� tłuð —uEM�AB = It� s¹« UÐ XÝ« ‰œUF� 

 ,
  

a11   a12

a21   a22











x   y

z   t





=

1  0

0  1








ÅÅÅÅÅÅÅÅÅÅÅÅÅÅ±≥≥

U¹

Æ

  

a11x + a12z a11y + a12t

a21x + a22z a21y + a22t






 =

1  0

0  1






 f¹dðU� œułË fÄB =
x   y

z   t









ÁU~²Ýœ t� s¹« UÐ XÝ« ‰œUF� 

  

a11x + a12z =1

a11y + a12t =0

a21x + a22z =0

a21y + a22t =1











 VWŠÅdÐx ¨y ¨z Ë t�« ÆbýUÐ »«uł È«—«œÅÅÒÁU~²Ýœ Ëœ UÐ ÁU~²Ýœ s¹« U

  

a11y + a12t =0

a21y + a22t =1





Å 
,

  

  

a11x + a12z =1

a21x + a22z =0





U�«uð ÁU~²Ýœ Ëœ s¹« t� rOM�Åv� tłuð ÆXÝ« ‰œUF�Î t� b�—«œ »«uł v²�Ë jIO Ë jIO ÅÅ 
  
a11a22 ≠ a12a21

 ¨©ø«dÇ®a11a22 − a12a21 ≠ 0 U¹ ¨
  
A ≠ 0UÐ XÝ« dÐ«dÐ »«uł eO� X%UŠ s¹« —œ Ë 

 

  

y =
−a

12

A

t =
a
11

A










 
,

  

  

x = a22

A

z = −a21

A










Æ©ø«dÇ®

 f¹dðU� «c%B t� XO_Uš s¹« UÐ AB = I dÖ« jIO Ë dÖ« XÝ« œułu� 
  
A ≠ 0X%UŠ s¹« —œ Æ

Å®±Æ                     ©

  

B =

a22

A
−a12

A
−a21

A
a11

A
















= 1

A

 a22 −a12

−a21 a11











 f¹dðU� œułË t� b¼œÅv� ÊUA� tÐUA� vÝ—dÐB t� XO_Uš s¹« UÐ BA = IUÐ XÝ« ‰œUF� eO� 

  
A ≠ 0 eO� X%UŠ s¹« —œ Ë B —œ Ábý vOdF� f¹dðU� ÊUL¼ ®Å±t_öš ÆXÝ« ©ÏrO�«uðÅv� «— ôUÐ V%UD� 

tOC� —œÏt×H_ ÏÆrOM� t_öš bFÐ 
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tOC#Ï ≥Æ f¹dðU� 

  

A =
 a

11
a

12

 a
21

a
22







 dÖ« jIO Ë dÖ« XÝ« d¹cá�Ë—«Ë 
  
A ≠ 0s¹« —œ Ë 

 r¹—«œ X%UŠ

  

A−1 = 1

A

a22 −a12

−a21 a11









Æ

 ‰U??¦?�≥Æ ‰U??¦??� f??¹d?ðU?� È«d?Ð ± v??M??F?¹ ¨

  

A =
5 3

2 1









 r?¹—«œ ¨

  
A = 5 −6 = −1«c??% Ë 

  

A−1 = −
1 −3

−2 5






=

−1 3

2 −5







Æ

«ËÈU¼Åf¹dðU� Èd¹cá�Ë— 3 × 3

tOC� tÐUA� È«ÅtOC� d¹“ —œÏ ≥ ÈU¼Åf¹dðU� È«dÐ   3 × 3ÆrOM�Åv� ÊUOÐ 

tOC#Ï ¥Æ f?¹dðU� 

  

A =
a
11

a
12

a
13

a
21

a
22

a
23

a
31

a
32

a
33

















 d?Ö« jIO Ë dÖ« XÝ« d¹cá�Ë—«Ë 
  
A ≠ 0—œ Æ

 r¹—«œ X%UŠ s¹«

  

A−1 = 1

A
A ∗

 Ê¬ —œ t� 

  

A ∗ =
A

11
A

21
A

31

A
12

A
22

A
32

A
13

A
23

A
33

















 Ë Aij ̈ijsO�« ‡‡ Á“UWL¼ Ï

ðU� f¹dAÆXÝ« 

Æ U³Ł«t� rOM�Åv� XÐUŁ «b²Ð« 

Å®±Æ ÅÅ                                   ©AA ∗ = A ∗ A = A I

 r¹dOÖAA ∗ = bij[ ]t� s¹« tÐ tłuð UÐ Æ

  
ai1     ai2     ai3

 dDÝi f¹dðU� Â«AË 
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A j1

A j2

A j3

 Êu²Ýj f¹dðU� Â«A ∗
«c% ¨XÝ« 

Å®≤Æ                            ©
  
bij = ai1A j1 + ai2A j2 + ai3A j3

« X4UŠËÒ∫‰i = jÆ X%UŠ s¹« —œ ®Å≤  —u_ tÐ ©bii = ai1Ai1 + ai2Ai2 + ai3Ai3Æb¹¬Åv�ÅÅÅÅ—œ 

�«Ò ÊUMO�dðœ jWÐ l�«Ë —œ dOš« ÈËUWð XÝ«— ·dÞ UA dDÝ tÐ X³W� i dÐ«dÐ «c% Ë XÝ« Â«A¨XÝ« 

 vMF¹bii = AÆ

∫ÂËœ X4UŠi ≠ jÆ f¹dðU� 

  
C = cij[ ]

3 × 3
e−Ð ̈ g¹U¼dDÝ ÂULð t� r¹dOÖÅv� dE� —œ È—uÞ «— 

ôUL²Š«Î dDÝ j ÈU¼dDÝ UÐ ¨Ê¬ Â«ÅA dDÝ Ë býUÐ vJ¹ j dDÝ dÐ«dÐ eO� «— Ê¬ Â«i Â«A fÄ Ær¹dOÖÅv� C

 dDÝ ¨ÊUWJ¹ dDÝ Ëœ q�«ô UÐ XÝ« vW¹dðU�i dDÝ Ë Â«Åj t−O²� —œ Ë Â«
  
C =0 dDÝ ÊuÇ Æj Â«CUÐ 

 dDÝi Â«A fÄ XÝ« ÊUWJ¹ 
  
cj1 = ai1 ¨

  
cj2 = ai2 Ë 

  
cj3 = ai3 vOdÞ “« ÆA Ë CU¼dDÝ ÂULð —œ 

ôU?L?²Š« e−Ð ¨bM²W¼ ÊUWJ¹Î dDÝ —œ j «c% Ë Â«
  
Cj1 = A j1 ¨

  
Cj2 = A j2 Ë

  
Cj3 = A j3t?−O²� —œ Æ

Å® dÐUMÐ≤ ¨©Å

  
bij = cj1Cj1 + cj2Cj2 + cj3Cj3�« ÆÒ ÊUMO�dðœ jWÐ dOš« ÈËUWð ÂËœ ·dÞ UCVWŠÅdÐ 

 dDÝj dÐ«dÐ «c% Ë XÝ« Â«C vMF¹ ¨XÝ« bij = CÆ�« Ò U
  
C =0 fÄ 

  
bij =0Æ

« X%UŠ —œ tâ�¬ “«ËÒt� r¹dOÖÅv� t−O²� r¹œd� d�– ÂËœ Ë ‰

                                  
dÖ«    

bij =
A       :i = j

 0       :i ≠ j





                                      

dÖ«

 «c% Ë

  

AA ∗ =
A 0 0

0 A 0

0 0 A
















= A I t?� œd?� XÐUŁ Ê«uðÅv� tÐUA� v%ôb²Ý« UÐ ÆA ∗ A = A I¨

ÄÅ® f±ÆXÝ« Ábý XÐUŁ ©

 d?Ö«A¹c?á?�Ë—«Ë t?O?C?� d?ÐU?M?Ð b?ýU?Ð d?Ï ≤ ¨
  
A ≠ 0 d?Ö« Æ

  
A ≠ 0t?D?Ð«— ÁU?~?�¬ Ï® ± —u?_ t?Ð ©

  

A 1

A
A ∗




= 1

A
A ∗





A = I b???¼œÅv???� ÊU???A???� t??� œu??ýÅv??� q??¹b??³??ð  AË X???Ý« d???¹c??á??�Ë—«Ë

  

A−1 = 1

A
A ∗

 Æ



ÅÅÅÅÅÅÅÅÅÅÅ±≥∂

 ‰U¦�¥Æ f¹dðU� È«dÐ 

  

A =
2 3 −4

0 −4 2

1 −1 5

















r¹—«œ 

,
  

A
13

=
 0 −4

1 −1
= 4 , 

  

A12 = −
 0 2

1 5
= 2 , 

  

A11 =
−4 2

−1 5
= −18

,
  

A
23

= −
2 3

1 −1
= 5 , 

  

A22 =
2 −4

1 5
=14 , 

  

A
21

= −
 3 −4

−1 5
= −11

Æ

  

A
33

=
 2 3

0 −4
= −8 , 

  

A
32

= −
 2 −4

0 2
= −4 , 

  

A
31

=
 3 −4

−4 2
= −10

fÄ

Æ

  

A ∗ =
−18 −11 −10

2 14 −4

4 5 −8

















�«Ò U
  
A = −46«c% ¨

Æ

  

A−1 = −1

46

−18 −11 −10

2 14 −4

4 5 −8
















=

9

23

11

46

5

23
−1

23

−7

23

2

23
−2

23

−5

46

4

23



















                    s¹dLð

±Åf¹dðU� “« p¹ d¼ ÊË—«Ë ÆÆbOM� «bOÄ œułË  —u_ —œ «— d¹“ ÈU¼

 ©n%«

  

2 3

−4 −6









¨ ©»

  

1 2

4 −1









¨

 ©ÅÃ

1 1 0

1 1 1

0 2 1

















¨Å ©œ

1 2 2

3 1 0

1 1 1

















Æ
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≤ ‰U¦� f¹dðU� È«dÐ Æ± vMF¹ ¨

  

A =
5 3

2 1









 œ«bŽ« «b²Ð« ¨m ¨n Ë rt� bOM� «bOÄ È—uÞ «— 

œ rOýUÐ t²ý«mA2 + nA + rI = O tDÐ«— s¹« pL� tÐ fáÝ Æ  A
−1

ÆbOM� t³ÝU×� «— 

≥ bOM� ÷dO ÆA Ë  B Ë b?M?ýUÐ d¹cá�Ë—«Ë vFÐd� ÈU¼Åf¹dðU�λÆd?H_ dOž vIOIŠ œbŽ p¹ 

bOM� XÐUŁ

 ©n%«AB Ë XÝ« d¹cá�Ë—«Ë   (AB)−1 = B−1A−1
¨

 ©»At   Ë XÝ« d¹cá�Ë—«Ë   (At )−1 = (A−1)t
¨

 ©Ãλ A Ë XÝ« d¹cá�Ë—«Ë ( λ A)−1 = 1

λ A−1
Æ

¥ bOM� ÷dO ÆA bOM� XÐUŁ ÆbýUÐ d¹cá�Ë—«Ë vFÐd� f¹dðU� p¹ A−1 = 1

A
Æ

µ v?F?Ðd?� f¹dðU� È«dÐ dÖ« ÆA v?F?Ðd� f¹dðU� ¨B t?� b?ýUÐ œułu� AB = I b?OM� XÐUŁ ¨A

Ë XÝ« d¹cá�Ë—«Ë  B = A−1
Æ

∂ dÖ« ©n%« ÆA Ë P Ë bMýUÐ t³ðd� r¼ vFÐd� ÈU¼Åf¹dðU�  Pb?OM� XÐUŁ ¨œuý ÷dO d¹cá�Ë—«Ë

 vFO³Þ œbŽ d¼ È«dÐn ¨   (P−1AP)n = P−1AnP¨

 f¹dðU� ©»

  

A =
1 2

2 1









 d¹cá�Ë—«Ë f¹dðU� «b²Ð« ÆXÝ« Ábý Áœ«œ Pt� bOM� «bOÄ È—uÞ «— 

  

P−1AP =
3 0

0 −1









 vFO³Þ œbŽ È«dÐ fáÝ Æn ¨An

ÆbOM� t³ÝU×� «— 

∑ bOM� ÷dO ÆA t� XO_Uš s¹« UÐ býUÐ vFÐd� f¹dðU� p¹   A
2 = A dÖ« Æ  λ ≠ 1œbŽ p¹ 

 bOM� XÐUŁ ¨býUÐ vIOIŠI − λ A r¹—«œ Ë XÝ« d¹cá�Ë—«Ë 

  
(I − λ A)−1 = I + λ

1− λ AÆ

∏ bOM� ÷dO Æ A v?FO³Þ œbŽ Ë býUÐ vFÐd� f¹dðU� p¹ n t� býUÐ œułu�An = OXÐUŁ Æ

 bOM�I − A ÊË—«Ë ÆXÝ« d¹cá�Ë—«Ë I − AøXWOÇ 

πtOC� —œ ÆÏ ¥ bOM� XÐUŁ 

  
A ∗ = A 2

Æ

±∞ dÖ« ÆA Ë B t� vLW� tÐ bMýUÐ t³ðd� r¼ vFÐd� ÈU¼Åf¹dðU� A + B = ABUÐ bOM� XÐUŁ ¨

 Èd¹cá�Ë—«Ë ÷dOA ¨ÅÅ B r¹—«œ Ë XÝ« d¹cá�Ë—«Ë eO�   A
−1 + B−1 = IÆ

±±t??¹Ë«“ È«d?Ð ÆÏÁb??ý Áœ«œ X?ÐU?Ł Ï θ Ê«—Ëœ f??¹d??ðU??� b?O?M?� X?ÐU?Ł ¨R θË X??Ý« d?¹c?á?�Ë—«Ë 

  
(R θ )−1 = R−θÆ
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µÅÆÅÅÅÅ≤vDš  ôœUF� ÁU~²Ýœ  

t%œUF� tÝ ÈU¼ÅÁU~²Ýœ tÐ «— œuš dE� gZÐ s¹« —œÏÈU¼Å‘Ë— Ë rOM�Åv� ·uDF� v%uN−� tÝ 

t%œUF� tÝ ÁU~²Ýœ p¹ Æœd� rO¼«uš vÝ—dÐ «— U¼ÅÁU~²Ýœ Ÿu� s¹« qŠ nK²Z�Ï —u_ tÐ v%uN−� tÝ 
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Å®   ′′1©    ÅAX = B

t%œUF� tÝ ÁU~²Ýœ d¼ t� rO¹u~Ð rO�«uðÅv� «c% Ë œuýÅv� q¹b³ðÏ® bM�U� v%uN−� tÝ ±t%œUF�  p¹ dOE� ©Ï

® qJý tÐ vW¹dðU�  ′′1©ÆfJŽdÐ Ë XÝ« 

® ÁU~²Ýœ œ—u� —œ Y×Ð t� r¹dO~Ð t−O²� rO�«uðÅv� rO²HÖ ôUÐ —œ tâ�¬ “«±t%œUF� ÈË— Y×Ð UÐ ©Ï

®  ′′1©ÆXÝ« ‰œUF� 

tOC#Ï ±Æ rOM� ÷dO AX = Bt%œUF� tÝ ÁU~²Ýœ vW¹dðU� qJý Ï® v%uN−� tÝ ±dÖ« ÆbýUÐ ©

  
A ≠ 0 ÁU?~?²Ýœ t−O²� —œ Ë t%œUF� s¹« ÁU~�¬ ¨®Å±»«u?ł s?¹« ÆXÝ« œdO tÐ dB×M� vÐ«uł È«—«œ ¨©

œdO tÐ dB×M�® ÁU~²Ýœ t−O²� —œ Ë t%œUF� ± ¨Å©  X = A−1BÆbýUÐÅv� 
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Æ U?³Ł« d?Ö« 
  
A ≠ 0 ÁU?~�¬ ¨A «c?% Ë X?Ý« d?¹cá�Ë—«Ë   A

−1
t?� X?Ý« `?{«Ë ÆX?Ý« œułu� 

  
X = A−1B «d¹“ ¨XÝ« t%œUF� »«uł 
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® ÁU~²Ýœ ÈUNÐ«uł œ—u� —œ eO� vÝbM¼ b¹œ p¹±ÁU~²Ýœ vMF¹ ¨©
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«c% Æb¼œÅv� g¹UL� «— t×H_ p¹ ÁU~²Ýœ s¹«  ôœUF� “« p¹ d¼ t� rOM�Åv� tłuð ÆXOdÖ —U�ÅtÐ Ê«uðÅv�

t%œUF� tÝ jÝuð t� vðÅU×H_ ÈË— „d²A� È«ÅtDI� œułË UÐ XÝ« ‰œUF� ÁU~²Ýœ s¹« È«dÐ »«uł œułËÏ

ÆXÝ« Ábý ÊU¹UL� d¹“ qJý —œ U¼Åt×H_ lÞUIð ◊UI� Ë UNÐ«uł sOÐ ◊U³ð—« ÆœuýÅv� hZA� ÁU~²Ýœ s¹«

t??????×??????H?????B t?????Ý Ï

ÁU??~??²??Ýœ ̈ È“«u?�

ÆXÝ« »«uł ÊËbÐ

t×HB tÝÏp¹ —œ lÞUI²� 

»«u??ł ÁU??~??²??Ýœ ¨t??D?I?�

Æœ—«œ œd�ÅtÐ dB×M�

t×HB tÝÏ—œ lÞUI²� 

ÁU??~??²??Ýœ ¨j?š p?¹

Æœ—«œ »«uł —ULAOÐ

t?×?H?B t?Ý Ï¨o?³?D?M� 

»«uł —ULAOÐ ÁU~²Ýœ

Æœ—«œ

ÊËb??Ð ÁU??~??²??Ýœ

ÆXÝ« »«uł

ÊËb??Ð ÁU??~?²?Ýœ

ÆXÝ« »«uł

 qJý±

 ‰U¦�≤Æt%œUF� tÝ ÁU~²Ýœ Ï ‰U¦� v%uN−� tÝ ±ÁU~²Ýœ vMF¹ ¨

                                          

  

2x1 + 3x2 −4x3 =1

     −4x2 + 2x3 = −2

 x1−  x2 + 5x3 = 5
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





—œ t� —uÞÅÊUL¼ ÆrOM� vÝ—dÐ «— »«uł œułË vÝbM¼ ‘Ë— tÐ —UÐ s¹« rO¼«ušÅv� Ær¹dOÖÅv� dE�—œ «—

È«dÐ »«uł œułË «c% Æb¼œÅv� g¹UL� «— t×H_ p¹ ÁU~²Ýœ s¹«  ôœUF� “« p¹d¼ r¹œd� Á—Uý« ôUÐ

t?%œU?F?� t?Ý j?Ýuð t� vðU×H_ ÈË— „d²A� È«ÅtDI� œułË UÐ XÝ« ‰œUF� ÁU~²Ýœ s¹«ÏÁU~²Ýœ s¹« 

t?%œU?F?� Ëœ —œ Æœu?ýÅv� hZA�ÏË« Ò Êœ«œ —«d?� UÐ ‰
  
x1 =0r?¹—Ë¬Åv?� X?ÝœÅtÐ 

  

x2 = 3

5
 Ë 

  

x
3
= 1

5
Æ

tDI� «c%Ï 

  

(0,
3

5
,
1

5
)t%œUF� Ëœ jÝuð t� È«Åt×H_ Ëœd¼ ÈË— ÏË« ÒfÄ Æœ—«œ —«d� œuýÅv� hZA� ‰

t×H_ Ëœ s¹«Ït×H_ ÆbMM�Åv� lD� jš p¹ —œ «— d~¹bJ¹ ̈ b�«e¹UL²� t� s¹« qO%œ tÐ —u�c� ÏhZA� 

t%œUF� jÝuð ÁbýÏË« Ò —«œdÐ dÐ ‰
  
n1 = (2, 3,−4)t×H_ Ë XÝ« œuLŽ Ït%œUF� jÝuð Ábý hZA� ÏÂËœ 
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 —«œdÐ dÐ
  
n2 = (0, − 4,2)t×H` Ëœ „d²A� qBO t� vDš t−O²� —œ ÆÏt%œUF� Ëœ jÝuð Ábý hZA� Ï

Ë«Ò—«œdÐ UÐ XÝ« ‰n1 × n2 = ( − 10, − 4, − 8) —u`ÅtÐ Ê¬ Èd²�«—UÄ  ôœUF� «c% Ë œuÐ b¼«uš È“«u� 

ÆbýUÐÅv� d¹“

Æ
  
x1 = − 10t

Æ

    
x2 =

3

5
− 4t       ,      t ∈ R

x3 =
1

5
− 8t

t?%œU?F?� jÝuð t� È«Åt×H` dÐ jš s¹« dÖ« ‰UŠÏÁU?~?²?Ýœ ¨b?ýUÐ o³DM� œuýÅv� hZA� ÂuÝ 

¨b?M?� l?D?� t?DI� p¹ —œ «— Ê¬ dÖ« Ë œ—«b� »«uł ÁU~²Ýœ ¨bMJ� lD� «— Ê¬ dÖ« ªœ—«œ »«uł —ULAOÐ

 tÇ È«“« tÐ t� rOM� vÝ—dÐ XÝ« vOU� fÄ Æœ—«œ œdO tÐ dB×M� »«uł ÁU~²Ýœt—u�c� jš ◊UI� v¹U¼

t????×????H???` ÈË—Ï 
  
x1 − x2 + 5x

3
= 5t????%œU????F????� b????¹U????Ð —u????E????M????� s????¹« È«d????Ð Æœd???O???ÖÅv???� —«d???� Ï
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5
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− 8t) = 5�« Ær?O?M?� qŠ «— Ò  —u?` t?Ð t?%œU?F?� s?¹« U− 46t = 23

5
ÁœUÝ 
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t%œUF�Ï“« XÝ«  —U³Ž t� œ—«œ œdO tÐ dB×M� vÐ«uł ÁU~²Ýœ «c% ÆœdOÖÅv� —«d� ÁU~²Ýœ ÂuÝ 
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 ‰U¦�≥Æt%œUF� tÝ ÁU~²Ýœ Ïs~L¼ v%uN−� tÝ 
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t%œUF� —œ r¼ b�—«œ —«d� jš s¹« ÈË—ÏË« Òt%œUF� —œ r¼ Ë bMM�Åv� ‚b_ ‰Ï◊UI� “« p¹ d¼ «c% Ë ÂËœ 

d?H?_ÅÅÅd?O?ž ÈU?N?Ð«u?ł ÁU?~?²?Ýœ s?¹« fÄ Æb¼œÅv� XÝœÅtÐ —u�c� ÁU~²Ýœ È«dÐ vÐ«uł jš s¹« ÈË—

Æœ—«œ ©»«uł —ULAOÐ l�«Ë—œ®

t%œUF� tÝ ÁU~²Ýœ V¹«d{ f¹dðU� ÊUMO�dðœ ÊœuÐ dH_ “« q³� ‰U¦� —œ t� s¹«Ïs~L¼ v%uN−�ÅtÝ 

tOC� ÆbýUÐÅvL� vOœUBð œ—«œ »«uł —ULAOÐ ÁU~²Ýœ t� rO²OdÖ t−O²�ÏÆbM�Åv� sýË— «— Ÿu{u� s¹« d¹“ 

tOC#Ï ≤Æ rOM� ÷dO AX = Ot%œUF� tÝ ÁU~²Ýœ vW¹dðU� qJý Ï® s~L¼ v%uN−� tÝ ≤ÆbýUÐ ©

® ÁU~²Ýœ t−O²� —œ Ë t%œUF� s¹«  —u_ s¹« —œ≤ dÖ« jIO Ë dÖ« XÝ« »«uł —ULAOÐ È«—«œ ©
  
A =0Æ 

Æ U³Ł« ( ⇐ ) rOM� ÷dO 
  
A ≠ 0tOC� dÐUMÐ «c% ÆÏ ±t%œUF� ¨Ï AX = OdB×M� »«uł È«—«œ 
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 œd?????O t????Ð  X = A−1O = OU?????�Ëe?????% «c?????% Æb?????ýU?????ÐÅv?????� i?????�U?????M????ð t????� X????Ý« Î 
  
A =0Æ
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vÝbM¼ ‘Ë— —uEM� s¹« È«dÐ ÆXÝ« »«uł —ULAOÐ È«—«œ
±

s¹«  ôœUF� “« p¹d¼ Ær¹dOÖÅv� —U�ÅtÐ «— 

È«ÅtDI� œułË UÐ XÝ« ‰œUF� ÁU~²Ýœ s¹« È«dÐ »«uł œułË Ë bM�Åv� hZA� «— È«Åt×H_ ÁU~²Ýœ

t?%œU?F?� tÝ jÝuð t� vðU×H_ ÈË— „d²A�Ït?Ýd?¼ t?� r?OM�Åv� tłuð ÆœuýÅv� hZA� ÁU~²Ýœ s¹« 

 «d¹“ ¨bM�Åv� —u³Ž  UB²Z� √b³� “« t×H_
  
x1 = x2 = x

3
=0ÆXÝ« s~L¼ ÁU~²Ýœ È«dÐ vÐ«uł 

Ë« X�UŠÒ∫‰ÆbMýUÐ o³DM� r¼dÐ t×H_ tÝ 

t?D?I?� —ULAOÐ t� XÝ« `{«Ë X%UŠ s¹« —œÏt?×?H?_ p?¹ l�«Ë —œ® t� vðU×H_ ÈË— „d²A� 

t%œUF� tÝ jÝuð ©Ë bM²W¼Ï—ULAOÐ eO� ÁU~²Ýœ «c% Ë Xý«œ b¼«uš œułË œuýÅv� hZA� ÁU~²Ýœ s¹« 

ÆXý«œ b¼«uš »«uł

∫ÂËœ X�UŠÆbMýUÐ o³DM� r¼dÐ t×H_ tÝ “« UðËœ 

—œ ©bM²W¼ vJ¹ l�«Ë —œ t�® «— d~¹œ t×H_ Ëœ  U×H_ “« vJ¹ t� XÝ« `{«Ë X%UŠ s¹« —œ

«œb?−?� Ë œd� b¼«uš lD� jš p¹Ît?×?H?_ t?Ý ÈË— X?Ý« v�d²A� ◊UI� jš s¹« ◊UI� ÏÁb?ý sOOFð 

t%œUF� tÝ jÝuðÏÆœ—«œ »«uł —ULAOÐ ÁU~²Ýœ «c% Ë s~L¼ ÁU~²Ýœ 

∫ÂuÝ X�UŠÆbMýUÐ e¹UL²� t×H_ tÝ 

p¹ t� s¹« qO%œ tÐ ÁU~²Ýœ ÂuÝ Ë ÂËœ  ôœUF� jÝuð Ábý hZA�  U×H_ X%UŠ s¹« —œ 

tDI�Ï bM�U� jš p¹ —œ «— d~¹bL¼ b�—«œ „d²A� L ÆbMM�Åv� lD� L —«œdÐ È“«u� 
  
n2 × n

3
t� XÝ« 

 Ê¬ —œn2 = (a21,a22,a
23

)t??×??H?_ d?Ð œu?L?Ž —«œd?Ð Ït??%œU??F??� j?Ýu?ð Áb?ý h?Z?A?� ÏË X?Ý« ÂËœ 

±UOd_ò tOC� s¹«  U³Ł« ‡‡Ît�U�dÐ “« åvDš d³ł ÈU¼—«eÐ« UÐ ÏÆXÝ« Ã—Uš »U²� s¹« vÝ—œ 
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n
3
= (a

31
,a

32
,a

33
)t?×?H_ dÐ œuLŽ —«œdÐ Ït?%œU?F� jÝuð Ábý hZA� Ïv?Ý—dÐ b¹UÐ ‰UŠ ÆÂuÝ 

t?×?H?_ t?Ð X?³W� jš s¹« XOF{Ë t� rOM�Ït?%œU?F� jÝuð Ábý hZA� ÏË« Òt?×?H_ ÆXÝ« t�u~Ç ‰Ï

t?%œU?F?� j?Ýuð Ábý hZA�ÏË« Ò —«œd?Ð dÐ ‰n1 = (a11,a12,a
13

)Ë ÷d?O d?ÐU?M?Ð ÊuÇ Ë XÝ« œuLŽ 

 s¹dLðπt×H_ “« Ï ±≤∏

                                  n1.(n2 × n3) = A =0,

 jš «c%Lt×H_ Ë Ït%œUF� jÝuð Ábý hZA� ÏË« Òp¹ œułË qO%œ tÐ t� œuÐ bM¼«uš È“«u� ‰

tDI�Ï l?�«Ë —œ UN�¬ ÈË— „d²A� L ◊U?I?� ÂU?Lð fÄ ÆXÝ« o³DM� t×H_ s¹«dÐ LÈË— „d?²A� ◊UI� 

t?%œU?F?� t?Ý jÝuð t� bM²W¼ vðU×H_Ïe?O?� X?%U?Š s?¹« —œ ÁU~²Ýœ «c% Ë œuýÅv� hZA� ÁU~²Ýœ s¹« 

Æœ—«œ »«uł —ULAOÐ

t4œUF� tÝ ÈU¼ÅÁU~²Ýœ qŠ È«dÐ d�«d
 —u²ÝœÏv4uN−� tÝ 

tOC�Ït%œUF� tÝ ÈU¼ÅÁU~²Ýœ qŠ È«dÐ «— výË— d¹“ Ï»uWM� t� b¼œÅv� XÝœ tÐ v%uN−� tÝ 

ÆXÝ« d�«d� tÐ

tOC#Ï ≥Æ©d?�«d
 —u²Ýœ®  t?%œUF� tÝ ÁU~²Ýœ r¹dOÖÏ® v?%uN−� tÝ ± ÆXÝ« Ábý Áœ«œ ©A«— 

 È«dÐ Ë rOM�Åv� ÷dO ÁU~²Ýœ s¹« V¹«d{ f¹dðU�
  
j =1,2, 3 ̈A j vW¹dðU� «—   3 × 3“« t� r¹dOÖÅv� 

 Êu²Ý i¹uFðj Â«AUÐ 

  

b
1

b
2

b
3

 dÖ« ÆXÝ« Áb�¬ XÝœ tÐ
  
A ≠ 0 ÁU~²Ýœ œdO tÐ dB×M� »«uł  —u_ s¹« —œ ¨®Å±U¼Å‰u�dO “« ©È

   

  

x1 =
A1

A
 ,  x2 =

A2

A
 ,  x

3
=

A
3

A

Æb¹¬Åv� XÝœ tÐ

Æ U?³Ł«  dÖ«
  
A ≠ 0 ¨t?OC�Ï ±t?%œU?F?� t?Ý ÁU?~²Ýœ t� b¼œÅv� ÊUA� Ï® v?%u?N−� tÝ ±«—«œ ©È

œdO tÐ dB×M� »«uł
  
(x1, x2, x

3
)rOW¹uMÐ rO�«uðÅv� U¼ÅÊUMO�dðœ ÈU¼ÅvÖó¹Ë dÐUMÐ ÊuM�« ÆXÝ« 
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x1 A =
a11x1 a12 a

13

a21x1 a22 a
23

a
31

x1 a
32

a
33

                                   =
a11x1 + a12x2 a12 a

13

a21x1 + a22x2 a22 a
23

a
31

x1 + a
32

x2 a
32

a
33

             =
a11x1 + a12x2 + a

13
x

3
a12 a

13

a21x1 + a22x2 + a
23

x
3

a22 a
23

a
31

x1 + a
32

x2 + a
33

x
3

a
32

a
33

                                          =
b1 a12 a

13

b2 a22 a
23

b
3

a
32

a
33

ÆÅÅÅ                                                          
  
= A1

 t−O²� —œ

  

x
1

=
A

1

A
 Ê«uðÅv� tÐUA� —uÞ tÐ Æ

  
x

2
 Ë 

  
x

3
ÆXÝ« XÐUŁ rJŠ «c% Ë œd� t³ÝU×� eO� «— 

 ‰U¦�¥Æ ‰U¦� ÁU~²Ýœ ±dÐ«dÐ ÁU~²Ýœ s¹« »«uł ¨d�«d� —u²Ýœ pL� tÐ Ær¹dOÖÅv� dE� —œ «— 

UÐ XÝ«

,

  

x
1

=

1 3 − 4

− 2 − 4 2

5 − 1 5

2 3 − 4

0 − 4 2

1 − 1 5

=
− 46

− 46
= 1

  

x2 =

 2 1 − 4

0 − 2 2

1 5 5

 2 3 − 4

0 − 4 2

1 − 1 5

=
− 46

− 46
= 1,
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Æ

  

x
3
=

 2 3 1

0 −4 −2

1 −1 5

 2 3 −4

0 −4 2

1 −1 5

=
−46

−46
=1

t?4œU?F?� t?Ý ÈU?¼ÅÁU?~?²?Ýœ q?Š È«d?Ð Êœd?ł ‡‡ ”ËUÖ ‘Ë— Ë ”ËUÖ v�cŠ ‘Ë—Ït?Ý 

v4uN−�

® ÁU?~?²?Ýœ V?¹«d{ f¹dðU� ÊUMO�dðœ dÖ« r¹b¹œ t� —uD�UL¼±f?¹d?ðU?� rO�«uðÅv� ¨býUÐ dH_ÅdOž ©

ÊË—«Ë® sOOdÞ Êœd� »d{ UÐ ÆrOM� «bOÄ «— ÁU~²Ýœ V¹«d{   ′′1©f¹dðU� s¹« —œ  ÁU~²Ýœ »«uł ÊË—«Ë 

Æœ—«œ ÈœU¹“  U³ÝU×� Ë  UOKLŽ tÐ “UO� bý d�– t� výË— tÐ ÊË—«Ë f¹dðU� Êœd� «bOÄ Æb¹¬Åv� XÝœÅtÐ

vKLŽ ÈU¼œdÐ—U� ÿU×% “« ̈ býUÐ t²ý«œ “UO� Èd²L�  UOKLŽ t� U¼ÅÁU~²Ýœ qŠ È«dÐ Èd~¹œ ÈU¼Å‘Ë— «c%

ÈU¼Å‘Ë— XLW� s¹« —œ Æœ—«œ —«d� tłuð œ—u�”ËUÖ v�cŠ  Ë  Êœdł ‡‡ ”ËUÖÈU¼ÅÁU~²Ýœ qŠ È«dÐ «—

t%œUF� tÝÏ∫rOM�Åv� ÁœUH²Ý« ÁU~²Ýœ qŠ È«dÐ d¹“ ÈU¼ÅÁbŽU� “« U¼Å‘Ë— s¹« —œ ÆrOM�Åv� d�– v%uN−� tÝ 

±d?O?O?G?ð ÁU?~?²?Ýœ »«u?ł ¨rOM� »d{ dH_ÅdOž œbŽ p¹ —œ «—  ôœUF� “« vJ¹ sOOdÞ dÖ« ©

¨bM�ÅvL�

≤t%œUF� tÐ «—  ôœUF� “« vJ¹ sOOdÞ dÖ« ©Ï¨bM�ÅvL� dOOGð ÁU~²Ýœ »«uł ¨rO¹«eOUOÐ Èd~¹œ 

≥ÆbM�ÅvL� dOOGð ÁU~²Ýœ »«uł ¨rOM� ÷uŽ «— t%œUF� Ëœ ÈUł dÖ« ©

”ËUÖ v�cŠ ‘Ë—

 ”ËUÖ vOcŠ ‘Ë—tz«—« UÐ «—Ï� vÝ—dÐ œ—u� d¹“ ‰U¦� ÆrO¼œÅv� —«d

2x1 + 4x2 + 6x
3
=18

4x1 + 5x2 + 6x
3
= 24

3x1 + x2 −2x
3
= 4









—œ XÝ« Ábý qOJAð XÐUŁ d¹œUI� “« t� vOU{« Êu²Ý p¹ UÐ Á«dL¼ «— ÁU~²Ýœ V¹«d{ f¹dðU�

Ær¹dOÖÅv� dE�

  

2 4 6 18

4 5 6 24

3 1 −2 4
















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« dDÝ —œ t� ÈdBMŽ XWZ�ËÒ« Êu²Ý Ë ‰ËÒd_UMŽ Ë Áœ«œÅ —«d�  UOKLŽ —u×� «— œ—«œ —«d� ‰

« Êu²ÝËÒr¹—«œ fÄ ÆrOM�Åv� dH_ Ábý d�– bŽ«u� “« ÁœUH²Ý« UÐ «— ÂuÝ Ë ÂËœ ÈU¼dDÝ —œ ‰

Æ

  

        R1

R2 −2R1

R
3
−

3

2
R1

2 4 6 18

0 −3 −6 −12

0 −5 −11 −23

















  ®ÅRi dDÝ vMF¹ÅÅiÂ«©

—œ l?�«Ë d?BMŽ Ë t²OdÖ  UOKLŽ —u×� «— ÂËœ Êu²Ý Ë ÂËœ dDÝ —œ l�«Ë dBMŽ ÈbFÐ ÂUÖ —œ

ÆrOM�Åv� dH_ «— ÂuÝ dDÝ Ë ÂËœ Êu²Ý

Æ

  

        R1

       R2

R
3
−

5

3
R2

2 4 6 18

0 −3 −6 −12

0 0 −1 −3

















ÁœUH²Ý« UÐ rO�«uðÅv� XÝ« Ábý q¹b³ð v¦K¦� ôUÐ f¹dðU� p¹ tÐ ÁU~²Ýœ V¹«d{ f¹dðU� t� ‰UŠ

s????¹d???š¬ —œ l???�«Ë —œ Ær???O???M???� «b???O???Ä «— »«u???ł ôU???Ð t???Ð s???O???¹U???Ä “« v???²???A???Öd???Ð  U???O???K???L???Ž “«

ÆXÝ« Áb�¬—œ d¹“  —u_ tÐ ÁU~²Ýœ tKŠd�

  

2x
1
+ 4x

2
+ 6x

3
=18

     − 3x
2
−6x

3
= −12

                − x
3
= −3









 f?Ä
  
x

3
= 3t?%œU?F?� —œ È—«c?~¹Uł UÐ Ë Ï r?¹—«œ ÂËœ 

  
x2 = −2—œ «— —«b?I?� Ëœ s?¹« ÊuM�« Æ

t%œUF�Ï« ËÒ fÄ ¨rOM�Åv� È—«c~¹Uł ‰
  
x1 = 4Æ

Êœdł ‡‡ ”ËUÖ ‘Ë—

d_UMŽ ¨tKŠd� d¼ —œ U−M¹« —œ v%Ë XÝ« ”ËUÖ vOcŠ ‘Ë— tÐUA� eO� Êœdł ‡‡ ”ËUÖ ‘Ë—

v?K?³� ‰U¦� tÐ ÆrOM�Åv� q¹b³ð dH_ tÐ Ábý d�– bŽ«u� “« ÁœUH²Ý« UÐ «— Êu²Ý d¼ —œ vK_« dD� “« dOž

ÆbOM� tłuð

  

1 2 3 9

4 5 6 24

3 1 −2 4

















tKŠd�Ï« Ë
Ò

tKŠd� tÐUA� ‰Ï« Ë
Ò

ÆXÝ« ”ËUÖ vOcŠ ‘Ë— ‰
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Æ

  

        R1

R2 − 4R1

R
3
− 3R1

1 2 3 9

0 −3 −6 −12

0 −5 −11 −23

















tKŠd� —œÏd_UMŽ Ë t²OdÖ —u×� «— ÁU~²Ýœ V¹«d{ f¹dðU� ÂËœ Êu²Ý Ë ÂËœ dDÝ dBMŽ ÂËœ 

« dDÝ —œ ÂËœ Êu²ÝË
Ò

ÆrOM�Åv� dH_ «— ÂuÝ Ë ‰

Æ

  

R1 +
2

3
R2  

        R2

R
3
−

5

3
R2  

1 0 −1 1

0 −3 −6 −12

0 0 −1 −3

















K� Ë XÝ«  UOKLŽ —u×� ÂuÝ Êu²Ý Ë ÂuÝ dDÝ ÈË— dBMŽ bFÐ ÂUÖ —œÒtOÏÂuÝ Êu²Ý d_UMŽ 

« ÈU¼dDÝ —œË
Ò

ÆrOM�Åv� dH_ «— ÂËœ Ë ‰

Æ

  

R1 − R
3

R2 −6R
3

 

        R
3

1 0 0 4

0 −3 0 6

0 0 −1 −3

















U²¹UN� ËÎ« dDÝ d_UMŽ ̈Ë
Ò

« Êu²Ý ̈ ‰Ë
Ò

 tÐ «— ÂuÝ Êu²Ý ̈ ÂuÝ dDÝ Ë ªÂËœ Êu²Ý ̈ ÂËœ dDÝ ª‰±q¹b³ð 

ÆrOM�Åv�

Æ

    R1

−
1

3
R2

 − R
3

1 0 0 4

0 1 0 −2

0 0 1 3

















 “« XÝ«  —U³Ž Å»«uł fÄ
  
x1 = 4 ¨

  
x2 = −2 Ë 

  
x

3
= 3Æ

Æd
cðf¹dðU� vK_« dD� ÈË— t� ÈdBMŽ Êœdł ‡‡ ”ËUÖ Ë ”ËUÖ vOcŠ ÈU¼Å‘Ë— —œ dÖ« 

“« vJ¹ Ë dBMŽ Ê¬ q�Uý dDÝ ÈUł býUÐ dH_ ¨œdOÖ —«d� —u×� b¹UÐ Ë œ—«œ —«d� ÁU~²Ýœ V¹«d{

K?� vMF¹ ¨býUÐ t²ý«b� ÊUJ�« È—U� sOMÇ dÖ« ÆrOM�Åv� ÷uŽ «— d~¹œ ÈU¼dDÝÒt?OÏÊu²Ý —œ d_UMŽ 

»«u?ł ÁU?~?²?Ýœ Ë X?Ý« d?H_ dÐ«dÐ ÁU~²Ýœ V¹«d{ f¹dðU� ÊUMO�dðœ ÁU~�¬ ¨býUÐ dH_ dÐ«dÐ tÞuÐd�

Æœ—«b�
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                   s¹dLð

±ÆbOM� qŠ ©œułË  —u_ —œ® ÁU~²Ýœ V¹«d{ f¹dðU� ÊË—«Ë Êœd� «bOÄ UÐ «— d¹“ ÈU¼ÅÁU~²Ýœ Æ

©n%«  

  

2x
1
− 5x

2
+ 2x

3
= 7

x
1
+ 2x

2
− 4x

3
= 3

3x
1
− 4x

2
−6x

3
= 5









¨

»                       ©  

  

2x
3
+ 3 = x

2
+ 3x

1

x
1
− 3x

3
= 2x

2
+ 1

3x
2
+ x

3
= 2−2x

1









Æ

≤ÆbOM� qŠ Êœdł ‡‡ ”ËUÖ Ë ”ËUÖ vOcŠ ‘Ë— ̈ d�«d� —u²Ýœ pL� tÐ «— d¹“ ÈU¼ÅÁU~²Ýœ Æ

©n%«    

  

2x
1
+ 4x

2
+ 6x

3
=18

4x
1
+ 5x

2
+ 6x

3
= 24

2x
1
+ 7x

2
+ 12x

3
= 40









¨ÅÅ  ©»       

  

 x
1
+ x

2
− x

3
= 7

4x
1
− x

2
+ 5x

3
= 4

6x
1
+ x

2
+ x

3
=18









¨

©Ã
ÅÅÅÅ      

−2x1 + x2 +   6x
3

 =18

 5x1         +  8x
3

= −16

3x1 + 2x2 −10x
3
= −3









Æ

≥ÆbOM� qŠ ”ËUÖ vOcŠ ‘Ë— tÐ «— d¹“ ÁU~²Ýœ Æ

  

x
2
+ x

3
=0

x
1
+ x

3
= 2

x
1
+ x

2
=0









¥tOC�  pL� tÐ ÆÏ ≤ s¹dLð È«dÐ Èd~¹œ  U³Ł« ̈∑dÖ« bOM� XÐUŁ vMF¹ ÆbOM� tz«—« q³� gZÐ “« 

A t?� X?O_Uš s¹« UÐ býUÐ vFÐd� f¹dðU� p¹   A2 = A Ë   λ ≠ 1 ÁU?~�¬ ¨vIOIŠ œbŽ p¹ I − λ A

 ÆXÝ« d¹cá�Ë—«Ë  (I − λ A)−1
 ÆbOM� t³ÝU×� eO� «—

µ bOM� ÷dO ÆA  Ë B t� È—uÞ ̈ bMýUÐ vFÐd� f¹dðU� Ëœ I − ABbOM� XÐUŁ ÆXÝ« d¹cá�Ë—«Ë 

I − BA XÝ« d¹cá�Ë—«Ë eO� ®tOC� “« ∫v¹ULM¼«—Ï ≤Æ©bOM� ÁœUH²Ý« 
  

I − BA( ) −1
 ÆbOM� t³ÝU×� eO� «—

∂t%œUF� tÝ ÁU~²Ýœ ÆÏ jš tÝ d¹“ v%uN−� Ëœ 
  
L

1
 ̈

  
L

2
 Ë 

  
L

3
ÆbM�Åv� hZA� t×H_ —œ «— 

  

a
11

x
1
+ a

12
x

2
= b

1

a
21

x
1
+ a

22
x

2
= b

2

a
31

x
1
+ a

32
x

2
= b

3








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Æb¼œÅv� ÊUA� r¼ tÐ X³W� «— jš tÝ s¹« nK²Z�  ôUŠ d¹“ ÈU¼ÅqJý

tŽuL−�ÏÆbOM� nO_uð  ôUŠ s¹« “« p¹ d¼ —œ «— Ábý Áœ«œ ÁU~²Ýœ »«uł 
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